POZZETTO 112

Ik = 0,54 [kA]
Linea: FG7OR /115 m

Sezione: 1(4x6)
c.dt con:1b0,76 % - In 1,78 %

POZZETTO %
lk=1,81 [kA]

Linea: FG7TOR /15 m [
Sezione: 1(4¥4)

POZZETTO 203 c.d.t con:b0,15%-n 0,51 %

Ik =0,78 [kA]

Linea: FGTOR /50 m
Sezione: 1(4x4)

c.dt con:1h0,42%-In1,24 %

POZZETTO 213

Ik = 0,49 [kA]

Linea: FGTOR /12 m
Sezione: 1(4x6)

cd.t con: b0,81%-1In1,95%

POZZETTO 111 POZZETTO 212
| Ik = 0,46 [kA] Ik =0,41 [kA]
Linea: FGTOR /15 m Linea: FGTOR /10 m
POZZETTO 95 CASSETTA PALO 96 POZZETTO 97 Sezione: 1(4xd) Sezione: 1(4x1,5)
Ik =0,81 [kA] Ik = 0,47 [kA] Ik = 0,86 [kA] cdt.con: b 0,77 %-In2,1% cdt con:1h0,77 % - In 2,39 %

Linea: FGTOR /10 m Linea: FGTOR /18 m

Sezione: 1(2x1,5) Sezione: 1(4%2,5)
c.dt con:1b0,18 % - In 1,67 % c.dt con:1b 0,17 %-1In1,13 %

Linea: FGTOR /20 m
Sezione: 1(4x2,5)
cdt.con:1h0,25%-1n1,2 %

POZZETTO 214 CASSETTA PALO 213

Ik =0,45 [kA] lk=0,2 [kA]

Linea: FGTOR /12 m Linea: FG7TOR /10 m
Sezione: 1(4x6) Sezione: 1(2x1,5)

c.dt con:1h0,87%-In2,11% c.d.t con:1h0,84%-1In3,11%

POZZETTO 115 CASSETTA PALO 203

Tk=061KA] Tk = 0,28 [kA]

Linea: FGTOR /16 m Linea: FGTOR/10m

?Z?Tﬁﬁfé 34%1 %-1n 1,58 % f ZZQ"SS;-H‘E )512155>% -n24% POZZETTO 110 CASSETTA PALO 111 POZZETTO 210 CASSETTA PALO 212
' ' T ' Tk=0,36 [kA] k=018 [kA] k=033 TkA] k=017 [KA]

Linea: FGTOR /10 m
Sezione: 1(2x1,5)
cd.t.con: 10,8 %-1n 3,55 %

Linea: FGTOR /18 m
Sezione: 1(4x2,5)
c.dt.con:1h0,79%-In3,01%

Linea: FGTOR /18 m
Sezione: 1(4x2,5)
cdt.con:b08%-In2,72%

Linea: FGTOR /10 m
Sezione: 1(2x1,5)
c.dt.con:1b0,8%-1n 3,26 %

POZZETTO 202 POZZETTO %4 CASSETTA PALO 97 CASSETTA PALO 98
Ik =0,66 [kA] lk=0,61[kA] lk=0,3 [kA] Ik =02 [kA]
Linea: FG7TOR /8 m Linea: FGTOR /12 m Linea: FG7OR /10 m Linea: FG7TOR /25 m POZZETTO 99 CASSETTA PALO 214
Sezione: 1(4x2,5) Sezione: 1(4x2,5) Sezione: 1(2x1,5) Sezione: 1(2x1,5) k=042 [A] k=018 [A]
. o 0, . o [ . 0. [ . o 0 =0, =V,
c.d.t con:1b0,28 %-In 147 % c.d.t.con:1b0,28 %-1n1,61% c.d.t.con:1b0,2%-In229% c.d.t. con:1h 0,24 % - 4,03 % Linea: FGTOR/ 12m Linea: FGTOR /10 m
Sezione: 1(2x1,5)

Sezione: 1(4x6)
c.dt. con: 160,92 %-1n 2,28 %

c.dt con:1h0,89%-In3,27 %

POZZETTO 116 POZZETTO 109 CASSETTAPALO 110 CASSETTA PALO 209 CASSETTA PALO 210
k=056 KA] | | =029 kA K=0,15[kA] k=011 A k=014 Al

Linea: FGTOR /8 m Linea: FGTOR /18 m Linea: FG7OR/10m Linea; FGTOR /30 m Linea: FGTOR /10 m

. Sezione: 1(4x2,5) Sezione: 1(2x1,5) Sezione: 1(2x1,5) Sezione: 1(2x1,5)
c.dt. con: 160,82 %- In 3,34 %

POZZETTO 204 Sezione: 1(4vd) . 9 9 . 0 9 . 9 o
|K S POZZETTO 114 odt oon Ib 0.5 % -1 174% p— POZZETTO 100 c.dt. con:1b0,83 % - In 3,88 % c.dt con:1h0,87%-In65% c.dt con:1h0,81%-In4,17 %
é‘;‘;@ﬁ{ﬁﬁ/ 1om E‘inzgg3FgG['§é]R 198 m POZZETTO 201 CASSETTA PALO 202 POZZETTO 93 CASSETTA PALO 94 k=08 A k=039 ]
¢t con: 053 %-1n 1,78 % Sezione: 1(425) =054 k] k=025 KA k=049 [KA] Tk =023 [kA] Linea: FCTOR/ 18 m g&:;gni%‘i;’ o

Linea: FGTOR /10 m Linea: FGTOR/10m Linea: FGTOR /12 m Linea: FGTOR /10 m Sezione: 1(4x6) c.dt con: b 0.94 % - In 2.49 %

c.d.t. con: 100,54 % - In 2,54 %
cd.t con: 160,99 %-In 2,53 %

Sezione: 1(4x2,5)
c.dt con: 100,29 %-In2,03 %

Sezione: 1(2¢1,5)
c.dt con:1h03%-In2,77 %

Sezione: 1(4x2,5)
c.dt.con: 100,32 %-In 1,82 %

Sezione: 1(2x1,5)
c.dt.con: 100,31 %-In 2,64 %

POZZETTO 117 CASSETTAPALO 116 I I |
k= 0,45 [KA] k=021 [kA] POZZETTO 108 CASSETTA PALO 109
Linga: FGTOR /12 m Linea: FG7OR /10 m POZZETTO 71 CASSETTA PALO 215 Tk=0,24[kA] k=0,13 [KA]
POZZETTO 205 CASSETTA PALO 204 Sezione: 1(4x2,5) Sezione: 1(2x1,5) TR =0T TRA POZZETTO 101 CASSETTA PALO 100 Linea: FG7TOR/ 24 m Linea: FGTOR/ 10 m
=0T =07 cdt. con: b 0,62%-n 2,16 % cdt con: b 057 %-1n 291 % k=0 FG[701R 0 k=0 FG[70]R 0 - > Sezione: 1(4x2.5) Sezione: 1(2¢1,5)
Linea: FG7OR /13 m Linea: FGTOR /10 m CASSETTAPALO 113 CASSETTA PALO 114 Slngah 146 m smze_ar.] 105 m tk = 0,31 [kA] Tk =016 [kA] cd.t con: 1b 0,84 %-In 4,17 % cdt.con: b 0,85%-In45%
Sezione: 1(4x2.5) Sezione: 1(2x1,5) k=012[kA] = 0,16 [A] odt con I(b 1 33 %-In 2,67 % adt oo I(b 1 62)°/ -1n369% Lnea FCTOR 1 20m Lnea: FGTOR  10m
ot oo b 05 % - 1n223% St oo b 04R% - 1n205°% Lineat FGTOR 28 m Linea. FGTOR /10 m POZZETTO 74 CASSETTA PALO 201 POZZETTO 92 CASSETTAPALO 93 At con:p1,03% -In 267% 1 con:o 1,027 -In 3,637 Segore Hh2s) 2 g S X 11365%
Sezione: 1(2¢1,5) Sezione: 1(2¢1,5) k=042 [kA] k= 0,21 [kA k=041 [A] =019 K] G- con. 4, ’ 0.1 con- 1D, ,
¢t con: b 061%-In 58 % ¢4t con: 100,56 % - In 3,7 % | Linea: FG7OR /16 m Linea: FG7OR /10 m Linea: FG7OR /12 m Linea: FG7OR /10 m
Sezione: 1(4x2,5) Sezione: 1(2x1,5) Sezione: 1(4x2,5) Sezione: 1(2x1,5) |

cdt con:1h0,37%-In2,37 % c.d.t con:1h0,34 % - In 2,98 % c.dt con:1b0,3%-In244 % c.d.t con:1b0,31%-1In3,19 %

| POZZETTO 117A

CASSETTAPALO 117
K0T RO POZZETTO 70 POZZETTO 216 POZZETTO 102 CASSETTAPALO 101 CASSETTAPALO 107 CASSETTA PALO 108
- : K= 030 K0 k=025 [ k=013 [ k=008 [A] k=0.1TkA]

Linea: FGTOR /23 m Linea: FGTOR /10 m Linea: FGTOR /35 m Linea: FGTOR /10 m

POZZETTO 129

CASSETTA PALO 205

lk =0,37 [kA]

lk=0,18 [kA]

Sezione: 1(4x2,5)
c.d.t.con: 1 0,69 % - In 2,67 %

Sezione: 1(2x1,5)
c.d.t. con: 1h 0,64 % -1In 3,32 %

Linea: FGTOR/15m
Sezione: 1(4x6)
c.d.t con: b 1,08 %-In 2,87 %

Linea: FGTOR/10m
Sezione: 1(4x2,5)
c.dt con: b 1,03%-In3,01%

Sezione: 1(4x2,5)
c.dt con:1b1,09%-In3,97 %

Sezione: 1(2x1,5)
c.d.t.con:1b 1,04 % - 1In 4,34 %

Sezione: 1(2x1,5)
c.dt con:1b0,94%-1n8.24 %

Sezione: 1(2x1,5)
c.dt con:1h 0,87 %-In533%

Linea: FG7TOR /13 m
Sezione: 1(4x2,5)
c.d.t. con:1b 0,57 % -1n 2,68 %

Linea: FGTOR /10 m
Sezione: 1(2x1,5)
c.dt con:1h0,58%-In34 %

POZZETTO 75 POZZETTO 73 POZZETTO 19
| Ik =0,34 [kA] Ik =0,32 [kA] Ik =0,36 [kA]
Linea: FGTOR /17 m Linea: FG7TOR /20 m Linea: FG7TOR /10 m
Sezione: 1(4x2,5) Sezione: 1(4x2,5) Sezione: 1(4x2,5)
c.d.t. con:1b0,41%-1n2,96 % c.d.t. con:1h 0,39 % - In 3,06 % c.dt con:1b0,3%-In2,79 %

| POZZETTO 194

CASSETTA PALO 195
Il_k' = 0’3F3G[;AE)]R 8 :-k = 0,1F2G[l;/(\)]R 195 POZZETTO 69 CASSETTAPALO 70 CASSETTAPALO 216 CASSETTA PALO 217 POZZETTO 103 CASSETTA PALO 102
inea: m inea: m
e oo lk=0,31 [kA] lk=0,14 [kA] Ik =0,14 [kA] lk=0,12 [kA] lk=0,1[kA] lk=0,11 [kA]
POZZETTO 206 POZZETTO 128 Sezone: 10 205 Sezore: {5 s Linea: FGTOR /18 m Linea: FGTOR / 10m Linea: FGTOR /10 m Linea: FGTOR / 20 m Linea: FGTOR /23 m Linea: FGTOR / 10m
k=031 Al k=028 ) ARG IAT A A LB RI0 A998 Sezione: 1(4x6) Sezione: 1(2x1,5) Sezione: 1(2x1,5) Sezione: 1(2x1,5) Sezione: 1(2x2,5) Sezione: 1(2¢1,5)
! ! c.dt con:lh1,14%-1In3,12% c.d.t con:1b1,11%-1In4,03 % c.dt con:1h1,06%-In4,17 % c.d.t con:1b1,09%-1n 5,34 % c.dt con:1h1,2%-In553 % cd.t.con:b1,12%-1n 5,13 %

Linea: FGTOR /23 m
Sezione: 1(4x2,5)
c.dt con:1b0,59 % - In 3,48 %

Linea: FG7TOR /15 m
Sezione: 1(4x2,5)
c.dt con:1b0,58 %-In3,2 %

| POZZETTO 76 CASSETTA PALO 200 CASSETTAPALO 72 CASSETTAPALO 73 CASSETTA PALO 197

Ik =0,31[kA] Ik =0,11 [kA] Ik =0,11[kA] lk=0,14 [kA] Ik =0,13 [kA]
Linea: FGTOR /8 m Linea; FGTOR /30 m Linea: FG7TOR /28 m Linea: FGTOR /10 m Linea: FGTOR /20 m

CASSETTA PALO 196 |

=015 A I I
Linea; FGTOR /10 m

Sezione: 1(4x2,5) Sezione: 1(2x1,5) Sezione: 1(2x1,5) Sezione: 1(2x1,5) Sezione: 1(2x1,5) Sezione: 1(2x1,5)
| | POZZETTO 193 CASSETTA PALO 194 c.dt. con:1h 0,43 %-1n 3,23 % c.dt con:1b0,5%-In6,45% c.d.t. con: 1h 0,46 % - In 6,32 % c.dt con:1b041%-In4,22% c.d.t.con:1b 0,36 % - In 5,11 % c.d.t. con:1b 0,33 %-n 3,95 % IFlJf)-ZOZEEk?L\]GB ﬁA_SOSE;I&]PALO 69
Tk=0,28 [kA] k= 0,14 kA] gineaz F?(74O§)/ 2m éineé F?(7201R 5/)10 m POZZETTO 104 CASSETTA PALO 103
Linea; FGTOR /16 m Linea: FG7TOR /10 m ezione: 1{4x ezione: 1(ex1, = =
POZZETTO 207 CASSETTA PALO 206 CASSETTAPALO 127 CASSETTA PALO 128 Sezione: 1(4x2,5) Sezione: 1(2¢1,5) cdtoon:b1,2%-In343% cdt.con: 101,16 %-In4,28 % E‘m‘ O:OFQG%]R 129m 'Lkm' O:OFgé';AE)]R 110m
k=026 kAl =013 kAl k=019 [A] =012 [kA] et con:1b0.78%-In35% cdt.con: D075 %-In4,11% Seroe: 1(2:25) Seone: 102:15)
Linea: FG7TOR /18 m Linea: FGTOR/10m Linea: FGTOR /30 m Linea: FGTOR/10m c.dt. con: 101,28 % - In7,02 % c.d.t. con:1b 1,23 % - In 6,69 %
Sezione: 1(4x2,5) Sezione: 1(2x1,5) Sezione: 1(4x1,5) Sezione: 1(2x1,5)
c.dt con:1b0,6%-1In3,82% c.d.t con:1b0,61%-1In4,36 % c.dt con:1b0,63%-1In531% cd.t con:1h 0,62 % - In4,64 % I I

POZZETTO 77 CASSETTAPALO 76 POZZETTO 67 CASSETTAPALO 68 |
k=026 [kA] K= 012 [kA]
=027 [A] =013 [kA] Linea: FGTOR / 24 m Linea: FGTOR /10 m

Linea; FGTOR /10 m
Sezione: 1(2x1,5)
c.dt con: b 0,46 %-In4,4 %

Sezione: 1(4x6)
cd.t con: 01,26 % - In 3,76 %

Sezione: 1(2x1,5)
c.d.t con:1h1,23%-In4,59 %

Linea: FGTOR /12 m
Sezione: 1(4x2,5)
c.dt. con: 1h0,45% - In 3,65 %

POZZETTO 132 CASSETTAPALO 193

Ik =0,25 [kA] lk=0,12 [kA]

Linea: FGTOR /12 m Linea: FGTOR/10m
Sezione: 1(4x2,5) Sezione: 1(2x1,5)

c.dt con:1b0,81%-1n3,92 % c.dt con:1h0,81%-In4,67 %

CASSETTA PALO 105 CASSETTA PALO 104

Ik =0,07 [kA] Ik = 0,08 [kA]

Linea: FGTOR /20 m Linea: FGTOR /10 m
Sezione: 1(2x1,5) Sezione: 1(2x1,5)

| c.dt con:1h1,33%-In94 % c.dt con:1b1,31%-1In8,18 %

POZZETTO 66 CASSETTA PALO 67
Ik =0,24 [kA] lk=0,11[kA]

Linea: FG7TOR/20m Linea: FGTOR/10m
Sezione: 1(4x6) Sezione: 1(2x1,5)

POZZETTO 78 CASSETTAPALO 77 cdt oo b 1,3 %-1n 4,03 % cdt conlb1,28%- In4,92%
CASSETTA PALO 208 CASSETTA PALO 207 k=W k=0f
— — Inea. m Inea: m
Tk =0,09 [kA] tk = 0,11 [kA] Sezione: 1(4x2,5) Sezione: 1(2x1,5)

Linea: FGTOR /27 m Linga: FGTOR /10 m c.d.t. con:1b 0,46 %-In4,13 % c.dt con:1h048%-In4,81%

Sezione: 1(2x1,5 Sezione: 1(2x1,5

c?iztlogoen I(b)((),GS)% -In6,96 % sztloggn I(b ?)63) %-1n4,98 % POZZETTO 192 CASSETTA PALO 133 POZZETTO 131 !
Ik =0,21 [kA] lk=0,1kA] lk=0,11kA]
Linga: FG7TOR /20 m Linea: FG7TOR /16 m Linea: FG7TOR /10 m POZZETTO 65 CASSETTA PALO 66
Sezione: 1(4x2,5) Sezione: 1(2x1,5) Sezione: 1(2x1,5) TEFH TR

. o 0 . [T 0, . o 0
cd.t con:1b0,84%-In4,61% c.dt.con: 100,86 %-In 5,78 % c.dt. con: 100,87 % - In 5,08 % Linea FGTOR / 15 m

Sezione: 1(4x6)
c.dt con:b1,32%-1n4,24%

Linea: FG7TOR /10 m
Sezione: 1(2x1,5)
cdt con:1b1,33%-1In52%

POZZETTO 198

Ik =0,21[kA]

Linea: FGTOR /20 m
Sezione: 1(4x2,5)

c.dt con:1b0,48%-In4,82 %

POZZETTO 191 CASSETTA PALO 192 CASSETTA PALO 130 CASSETTA PALO 131 POZZETTO 65A CASSETTA PALO 65
Ik =0,19 [kA] lk=0,1TkA] Ik =0,09 [kA] Ik =0,1TkA] Ik = 0,22 [kA] Ik =0,1kA]
Linea: FGTOR /16 m Linea: FGTOR /10 m Linea: FGTOR /16 m Linea: FGTOR /10 m Linea: FGTOR /8 m Linea: FG7TOR /10 m

Sezione: 1(4x4)
cdt con:lh1,34%-In4.41%

Sezione: 1(2x1,5)

Sezione: 1(2x1,5)
c.d.t con:1b1,35%-In54 %

Sezione: 1(4x2,5)
c.dt.con:1b0,89%-1n 6,24 %

c.dt con: 100,86 %-In5,16 %

Sezione: 1(2x1,5)
c.d.t.con:1b 0,87 %-In577%

Sezione: 1(2x1,5)
c.dt con:1b0,91%-1n 6,94 %

CASSETTA PALO 199 CASSETTA PALO 198 ! !

| Ik =0,08 [kA] Ik =0,09 [kA]
Linea: FGTOR /30 m Linea: FGTOR /10 m

Sezione: 1(2x1,5) Sezione: 1(2x1,5)
c.d4 con: 1b 0,57 % - In 8,31 % c.d1. con: I 0,51 % - In 5,98 % POZZETTO 219 CASSETTAPALO 218
CASSETTAPALO 190 CASSETTAPALO 191 k=02 [KA] Tk=0,09 [kA]
Tk=0,07 [kA] Tk=0,09 [kA] Linea: FGTOR /16 m Linea: FGTOR /20 m
Sezione: 1(4x4) Sezione: 1(2x1,5)

Linea: FGTOR /10 m
Sezione: 1(2x1,5)
c.d.t. con:1b 0,89 % - In 6,32 %

Linea: FGTOR /28 m
Sezione: 1(2x1,5)
c.dt. con: 100,94 % - In 8,42 %

cdt con:lh1,37%-Ind,74 % cdt con:lh1,4%-In6,73%

POZZETTO 220 CASSETTAPALO 219 POZZETTO 221 CASSETTAPALO 220 POZZETTO 106 CASSETTA PALO 221 CASSETTA PALO 222

Tk =019 [kA] Tk =009 Al Tk=0,18 [kA] Tk = 0,0 [KA] T =0,17 [KA] Tk =0,08 [KA] -

(=0, (=0, , , , , k=007 kA

Linea: F,G740§/21 m Linea: F_G720R [10m Linea: FGTOR /12 m Linea: FG7OR /10 m Linea: FG7OR /12 m Linea: FG7OR /10 m Linea: FG[70]R 120m
Sezwone.‘1|( ’; ) %1518 Sezmne.jl( X1*5)0 5610 Sezione: 1(4x4) Sezione: 1(2x1,5) Sezione: 1(4x2,5) Sezione: 1(2x1,5) Sezione: 1(2x1,5)

cdt con: 1,39 % -In 5,18 % cdd.con: 01,33%-In 5,91 % cdt con:lb1,39%-In544°% cdt con:lb1,42%-In6,35 % cdt con:lb141%-In5.85% cdt con:lb142%-In66% cdt con: b 146 % - In 8,17 %




